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Attemi)t any Five questions.
All quéstio_ns carry equal marks.
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How is GDP (Gross. Do'mest.ic Product) computed .

using Income Method ? 7

What is depreciation ? Why is it important to

compute depreciation ? 4

Is increase in National Income an indicator of

increase in social welfare ? Comment. 4
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Consider a thrée sector economy where :

Consumption function : C =20 + 0.80 Y, "
Investmer;t , : 1= Rs. 56 ci-_ores
Government epxenditt;re : G = Rs. 20 crores

Taxes ‘ : T = Rs. 10 crores |

(@ Compute equilibrium level of income and show it

djagrammatically. 9
() Compute consumption at equilibrium level of
income. ' 3
(c) Compute ‘total leakages’ in the economy at equi-

librium level of income, 3
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Show with the help of diagrams that aggregate demand

shocks cause the price level and real GDP to change

in the same direction while aggregate supply shocks

cause the price level and real GDP to change in opposite

directions. - 15
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Explain the concept of Multiplier.” What is the

relationship between marginal propensity to

consume and value of the multiplier ? 8

Derive IS and LM curves. What do they
exhibit ? ) : 7
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What is net export function ?- C A

What factors cause-a shift in net export

ﬁ;ﬁction? T
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Explain the process of credit creation by commer-

cial banks, _ Tie
Describe the components of money supply. 7%
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(@ Esplain ‘Fisher's Quantity ‘The‘ory. of Money". 7%

(6) Throw light on the different motives to hold

money. ‘ 71/_é
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Wi'i£e shor-t notes on‘any two of the following :
(@ Deflationary gap and Inflationary 'gap. ’
{6) Determinants of propensity to consume.
{(¢)  Components of Balance of Payments,

@ Short-Run Aggregate Supply Curve (SRAS

"curve), . TV, TV%
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